%ﬂﬁﬁ%mﬁﬁ RS - 3% SF5FE4H18A

(B A F054E4 A 11 B ~4SFfa54E4 A 17H) AR K PERRBR

i
U E it o B, BEIBHCIX75~ AV (BTREV20~ AN 3E) MEICho TIELIEEE | B IR
TIXIS~AN (RREVS~ AR (I > TIELLEER IL TN,
REARIL, B#RtEII21C~22CHE, LEBRERIX17T~19CHT, NEEIEL | THBL TS,
B BOROREH AR, 135 (ZFIFM) 19. 0°C, 125 (FHxih) 1218. 8°C. 105 (EF ) 1x
19. 0°CTH o7z,

W,

PRI 268080) ¢ FBF WAL (R 27 5 OSLE - S8k ET 2L, EFEK~15%
T=PN0. 2b (1 B 1Y 72010kg) ™V A0, 2h DK BT,

TIVAR (S8080)  LEBOSEENIABTT 2L,

VA w7 ol (R E-ER) - EBFIREZORERIT. BE~280 Y430 (F1kg) . 3270. 1k
v (F133kg) AT, INGEI~2258540. 4b (Fl17kg) . BV FH 9%, 93270, 1h (Flekg) DAET,
TR O RAERIT, FHE~20EH V40, 2R (F17kg) . EVZHTH, 3aUbFDKBT, B~
208574 0. Th ([F32kg) . B #0. 1h (R 7kg) DK BT, RIEBIRED OBk, LKk ~128
VA0, 2h (Fl18kg) . B0, 1+ (F10kg). 32703 H ([M2kg) DKET, WEESVIT, BHDH
HIIARBT 2L, FH~28HV40. 3h (F172kg) . BV ZbT0ROKET, AfL~1285416. Thy
(A1, 406kg) . B> %0. 9br DKEHT, B ~3E DY A4, 18 ([, 402ke) . B2 Z0. 3k DAEHT,
FEERD B K ~138445. 2h (F1395ke) . BV Z0. 1R DOKEBTF, KEILESIT. ABITFHRL, B
~JaERRREIL, FAS1ERAT (FNF) IR, TN () IR, ARF (F <) 14, BoF T (FR) 72
A, BRI ED KB,

AU HM (R . BREBREZIOATHHEIL, T/INL~1218A0562. 2h (F1514kg) DABT, LEFE
AK~111EATH66. 9h (F1603kg) DAKBIT,

VIR (R FHE) . HEBOVIRAX, HHEOREA~ISHL2. 2h (1 B 1#H Y0 128ke) DABIT, &+
EOEREF ~4%E0. 2b ([F155kg) DABIT, M ~31%t4. 9b> (F1159keg) AT, D HEHIIAS
720,

ASTEEXMW . HEBOUATEXMIIL. TRHE~11ES (T8, Oh (1 H 1£Y7-0729ke) DABIT, 8
~28 (71, 1h (F501kg) DAGT,

ANVAA T 0 B’ (BT < INGERR - BHEIEIK) DAV AL, KBITRL,

REIEEME  ZEHETERE(SHEE) ORBERIT9. 7Th, AT, 7V (FU#K) 1, 8944&, 7Y (AP
)9, 9844, =T 14, 9h B NHL. 1h, =T V4. 8hy, AT Z0. 9h ., HTF0. IR DK
i, B EERE(2HA) DA EIX133. 1h, AFERITIX. 7V (FV#) 5, 5314, 7Y (AP u#k)

1, 4854, =713, 1h, Y84, 5hy, =7 P28, 1h, 453, 9bv U2, b MD KBTS,

HRIEEME: BEEDOPREXEROKABEERIL, 6533, 1M (1B 1Y 705, 5h), AERITIX, ~T7Y
5. 9hv L HSHL, TRy U ALT L 22, 8RN ALDKEET

Bigi)

L
BN, 2R, 2RI ICEELIBER ] THRBLES,

REARIL, TEBBEEIXEEL 2| CHBLED, (BHEE: TEBRREK1I9CHRATH)

[R5 #]

=HIR(UHA8H~4H14H) TiL, HSYVMET21. 3h/ (=715, TR, A3, 9byv, L. 2h AV
0. 1R/, ZNVALH0. 1A DAEHT, EBHETE3. Oby (FV (FUHK) 8, 4224, 7V (U5H#k) 1, 5894,

EF=H%1. 6k, =~FHO. 6hr, =T 0. 4h) DKBIT,

HIFR(AA6H~4A128) Tid, £X5/8T249. 4h (=T V15, 4by, FEFI5. 6, =74, 9hAh)
DOXRBT, BB TO. 1 (ENF DT, I~AFUZoF0Mh) OKBIT, EBRETTY (FVHR) 249D KEHT,
NROFHBTITR4. 18 DKREBT,

FIEKILR (3A31H~4H6H) Tit, TX#TL27. 4R/ (A TV82. 6h, B3H44, 6, LT UHHO. 2

Ko BT F AT T hMh) DAST, BB T39. 58 (Y F38. Th, FAF0. 8hv) DABT, Xy F T
TIRA, Ob DKET,



{

B R
EIEER Nob 4/16~4/17
BEFRY—EREUE—

B w1 <l X~ -
132ng:?'-.f” % 133 134

<

7
15:135°

=

"
L. RR pmy ELL
BRSO MR M R M R

AT - =TI | | | |
25 45 65;8
//;fE:___———\> / S 0D BB P AR
| L |

E-]

7 E Y
KR
(4H11H~ 4H17H)

B3 KR

| AT | E
F | ® 3]
= | = E

0 |02 1
19.1

& g

0.6]0.8 =

- 186 | #

= ]

0.5]0.2 A
- 19.2

= I I

0.8]0.2 H

2c 1173 | B

® | 5 ,%

#

101021188 7

=l = o]

=

Zf 187 | F

=l i)

0 |04 H
~7 1173

= b

0 |07 e
18.8

] 5%

10609 10%&
~7 | 10.

B & w)%m

23]08 13%
19.0

E | & 2%




BEBRIRES SETHAR 2023%F4R11H ~ 2023%4R17H
. o~ B 1H1& p2X i 5 #
(X A 4/11 | 4712 | 4/13 | 4/14 | 4/15 | 4/16 | 4/17 | BEEt RES (A4 [[(BiK. BER)
A v R — — — — — - — — -
G 0% 0
H N VA SR — — — — — — — - — IVENELY (e Y
(ZE F) 0& 0 ~
A HHR o e e e e e — b = [rvnEy ey - b
(hOFEsR) 0% 0 ~
A 348 g — 0.0 0.1 o1 — — - 0.2 bty 10| XN FLy R4 — v
G& k) 1 7 7 15 € 0| 399 ~ 542 ||nh'vt 0.2 by
LA | SHE g — — — — — — — — - Fn - v
(F &) 0% 0 2417y — v
hvFt BB SHE — — — 00| — — — 0.0 tv 1 ] - b
G)) 2 2 & 0 ERD) 0.1 by
hvFt BB g — — 0.1 02| — — 0.1 0.4 tv 17 ] 00 tv
(hOtEsR) 7 12 3 2 % 0 ERD) 0.1 by
hvFt BB g 00| — — 01| — — 0.1 0.2ty 7 ] 00 tv
(F 1k) 7 3 4 4 2 20 £ *n Enb) 00 by
huA B i3 SHE — - 0.1 05 — — 0.1 0.7 by 2(hvAFy  Evs 0.1 by
(tk &) 12 7 1 20 £ 0| 794 ~ 1232|337 — b
huA B 18 BHE 0.0 0.1 0.0 o1 — 00 — 0.2 bty 18|hVATty |tV 0.1 by
G& k) 2 3 2 3 2 12 & 40| 593 ~ 1122|337 0.0 tv
hvFt =8 EHR — — — — — — — — b — ] - b
GREM) G 08 0 ERD) — b
huA £ g — - 0.2 o1 — — — 0.3 by 172 ] 0.0 by
(GREMm) (F {&) 1 1 28 0 ERD) — b
HhUF £ 8 A L 3.2 3.7 36 3.1 31 - — 16.7 bv 1,406|hVAFy  ||E'Vh 09 v
GREM) 2 2 2 3 3 12 € 0| 447 ~ 905 |37 — b
hvt =8 g — 3.7 04 o0 - — - 41ty 1,402 (] 0.3 by
GBEM) (£ &) 1 1 1 3£ %0 Emb] — b
HhuFt =H BHE 04| 25 0.6 14 — 0.3 0.0 52 b 395|hwAFLg  evs 0.1 by
GREM) (& K) 1 3 2 4 2 1 13 € ¥0o| 517 ~ 998 |37 —
hvA =8 AR — — — — — — — — b - [z — b
(KAL) (k&) 08 *n Emb) —
hoFt =8 AR — — — — — — — — b — E'v4 — b
(K& ) (& K) 08 %0 Emb] — b
Evs L= BHE — — 0.1 0o — — 0.0 0.1 by 7 hyx 0.7 bv
£ &) 12 7 1 20 £ %0 Emb] - b
Evs L R 0.0 0.1 0.0 oo — 0o — 0.1 by 10 hyA 0.2 bty
G& K) 2 3 2 3 2 12 £ 0 ERp) 0.0 tv
337 B i g — — — o1 — — — 0.1ty 33 hy# 00 tv
(B @) 2 2 € 0 [ — b
E=Ly) BB R — — 0.0 o1 — — 0.0 0.1 by 6 hyA 0.4 tv
(IFELR) 7 12 3 2 & 0 ] 0.0 tv
E=ly) BB g — — — — — — 0.0 0.0 tv 1 hyx 0.2 tv
(F 1k) 2 20 & 0 ] 0.0 tv
337 L SR — — — — — — — — b - hy# 0.7 tv
(k&) 0% 0 t'v4 0.1 b
E=Ly) L AR — — — 0o — 00| — 00 tv 2 hy# 0.2ty
9] 3 2 12 & 0 Ev4 0.1 by
AT BB AR 31.3[ 106 25 71 — — 10.7] 622 v 514
(F/hniL) 29 27 20 20 25| 121 & 0| 159 ~ 186
AT BB AR 2.0 71| 193] 385 — — — 66.9 bV 603
G& k) 2 18 46 45 111 & 0| 158 ~ 176

FD 2~




REBEAESE (x02) EEHHAM 2023548118~ 2023%4817H
. o~ B BER (LB LKGEH(TR) 181& p2X i 5 #
(X A 4/11 | 4712 | 4/13 | 4/14 | 4/15 | 4/16 | 4/17 | BEEt RES (A4 [[(BiK. BER)
VSR | yFA 7 = 25 2.1 1.9 19 — — 38[ 122ty 128
18 19 20 19 19 95 # ¥0|1058 ~ 1432
VSR | Ry FA EEFET o1 — 0.0 0o — — 0.1 0.2 tv 55
1 1 1 1 4 % ¥0|1067 ~ 1381
VSR | yFA i H 10| — 15 07 — — 1.7 49 tv 159
7 8 8 8 31 # +0[1450 ~ 1720
L3R | Sy F4E g — — — — — — — — b -
(HB%H) 0 f# 0 ~
45 FEH g 16 1.3 1.6 1.3 11 — 1.1 8.0 tv 729
(F #) 4 2 2 1 1 1 11 € 0
D FEH SHE — — 0.3 08 — — — 11 by 501
(k&) 1 1 2 & ol 97 ~ 122
AL A B & EHR — — — — — — — — b -
Ah (hOtEsR) 0% 0 ~
AILA B & EHE — — — — — — — — -
A4h G& X) 0E *n
AL A ®' 8 EEHR — — — — — — — — b —
1h G:)) 0% 0
BEYD[ E 8 BHE gaehya| Fng | YE | ANF | AT | bk | BV REE 1€ [1854Y
TR (B @) — 9 1| — 1 72 1 84 & | 84K
EEM [ K & == 7Y | An | 7Y YN Ty | vk | hasF | Bt S5 A% |20t 5 AL 1,894 &
B E | EEHE 3 KEL 140 57.3] 149 11| — — — 99.7 bv | 6 HE 124 by |2 08k 9,984 &
EEM [ K & g £ 7Y | An | 7Y YN Ty | vk | hasF | Bt £ R [T Ot 5 7V 5531 &
B E | EEHE 2 K# 29.4 6.6 13.1 45| — — — 1331 +v | 6 BIE 795 bV (A 0k 1,485 &
FEA R ERS TV FETT| Y7V | $NEE | w49 | A | hEYF 6 # |1#iLtzy (2D 5t
B ¥ FER B 15 — — 5.9 17| — 228 — 33.1 by 5.5 26 by

—1:/@¥%4LL. T00b/]:BES0kgll L 50kgkKiH.

roxoy:1H1&€/RES0kgll L05kgR i




